AEROHEAT D-2.2 | D-3.2 \* AE HR? I-! EtAT®
O®®

To the controller
LIN BUS

To the baftery
main power supply

AR

SEEE
ol 6 w)(m)(e)

|

e
ISy

&

To the fuel ftank

/-

‘ @

B

<

GMBH GERMANY



AEROHEAT D-2.213.2 | Item list

Objekt

1

© o0 ~N O O

11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

Anzahl

Bauteilnummer

20.022.100.001

20.022.117.000

20.022.117.001

20.022.117.002

20.022.117.003
20.020.120.000
20.020.120.001
20.020.121.000
20.020.130.000
20.020.131.000
20.020.133.000
20.020.135.000
20.020.136.000
20.020.137.000
20.020.138.000
20.020.139.000
20.020.140.000
20.020.150.000
20.020.151.000
20.020.152.002
20.020.154.000
20.020.155.000
20.020.160.000
20.020.161.000
20.020.162.000
20.020.163.000
20.020.190.000
20.020.191.000
20.020.192.000

7\‘; AEROHEAT®

Heating Systems

Beschreibung

AEROHEAT Heater D-2.2/1.900 Watt,
AEROHEAT Heater D-3.2/2.700 Watt, 12/24V

Cable harness - outer, LIN BUS,
3-pole (black/yellow, blue/black, brown), 4.57m

Cable harness - outer, fuel pump,
2-pole (green/yellow), 5.8 m

Cable harness - outer, main power supply,
2-pole (red/black), 4.8 m

Kit - Holder casing flat fuse

Blade-type fuse - 7.5A

Blade-type fuse - 15.0A

Connector socket - fuel pump - AMP

Fuel pump - 12V

Fuel pump - 24V

Bracket - fuel pump

Anti-vibration buffer (bracket - fuel pump)
Fuel supply line - 0.67m

Fuel supply line - 5.00m

Coupling piece - rubber - g 4/10 x 50mm
Hose clamp - 11mm, steel, galvanized

Hose clamp - 9mm, steel, galvanized
Exhaust pipe - 1.0m, stainless steel (D-2/D-3)
Protection cap - exhaust pipe (D-2/D-3)
Exhaust pipe clamp - 23-25x18mm, stainless steel
Pipe clamp - exhaust pipe, 8=24mm, stainless steel
Sheet-metal swrew - ST6.3x13 - A3P

Nut - M6

Spring lock washer - M6

Nut - M5

Spring lock washer - M5

Air intake silencer - 0.17m (D-2/D-3)

Hose clamp - air intake silencer (D-2/D-3)

Cable strap - 0.2m

KOMP

GMBH GERMANY



